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QUESTION 1

REQUIRED:

[20 marks]

Answer the following questions by choosing the correct answer. Write the letter you

have chosen as your answer next to the question number on your answer sheet.

1.1

1.2

1.3

The role of the financial manager is to
A Act on behalf of shareholders
B Must have knowledge of current position and performance relative to the

past and competitors
C Make decisions in order to maximise shareholders wealth.
D All of the above

Mufasa and Sharkie would like to start a business together. Which of the
following are disadvantages of a partnership?

I. limited life of the firm

II. personal liability for firm debt

III. greater ability to raise capital than a sole proprietorship
IV. lack of ability to transfer partnership interest

I and II only

III and IV only
IT and III only

I, II, and 1V only

0O WX

(2)

(2)

Mufasa has just retired as CEO of the Jaguars Rugby Union. His retirement
annuity stipulates that monthly payments of R22 500 will be deposited into his

CapiSave account that earns interest of 5.5% p.a.

Calculate the value of the retirement fund assuming that annuity payments will

never cease,

A R 4 090.91

B R 16 363.64

C R 409 090.91
D R 1636 363.63

(2)
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1.4

1.5

1.6

Sharkie invests R10 000 in a savings account at an interest rate of 15% p.a.
compounded annually for 5 years. Which interest factor will Sharkie use to
calculate the future value of the investment?

A 2,0789

B 2,0114

C 1,7490

D None of the above (2)

Mufasa and Sharkie decided to keep a minimum bank balance to the value
of R 2 000 for unexpected expenses that might occur. The company truck
recently broke and the cash in the bank was used to prepare the truck.
Keeping cash for similar occasions is referred to as the:

Transaction motive

Safety motive

Speculative motive

None of the above (2)

OO0 m >

In which of the following is cost information used by companies:

i Assist in short and long term decision making

ii. Evaluate performance
iit. Allocate cost between cost of sales and inventory
iv. Planning and control

i, i, iii

i, iv

ii, iii, iv

All of the above

OOwp

(2)
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1.7

1.8

1.9

1.10

At the beginning of the year you paid to attend a weekend sports clinic that will
take place in December. The sports clinic will be held in Durban. You are
deciding whether to drive down with a friend or lend your father’s car for the
trip. Identify which ONE of the following costs will be relevant when calculating
the cost of the trip

A. The cost of your sports clinic
B. Insurance on your father’s car
C. The cost of your friends car
D. Tolls
(2)
Which of the following will NOT appear in a cash budget?
A. Depreciation of machinery
B. Sales revenue
C. Wages
D. Machinery bought on hire purchase (2)

What do solvency ratios tell us about the company?

A. Does the business have enough money to honour its short term
liabilities?

B. Does the company have a lot of debt and is it financed mainly be equity?

C. How effectively has the company used its fixed and current assets?

D. How does the market see this company? (2)

The cost of capital?

A. wili decrease as the risk level of a firm increases

B. remains constant for all projects undertaken by the same firm.

C. is primarily dependent on using one source of fund for a project.

D depends on how the funds are going to be utilized (2)
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QUESTION 2 [10 marks]

State whether the following statements are TRUE or FALSE.

For all TRUE statements you should briefly motivate the statement.

For all FALSE statements you should briefly provide the correct answer.

2.1

2.2

2.3

2.4

2.5

A conservative financing policy mainly uses short term financing as it is cheaper
than long term financing (2)

The main financial objective of a company is to maximise profits. (2)

When compounding interest is used to calculate the future value of a lump
sum, the future value will be higher than when simple interest is used. (2)

Opportunity costs is when the benefit of one alternative is sacrificed for another

alternative. (2)

The statement of comprehensive income shows the flow of cash in and out
of the business. (2)
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QUESTION 3 [10 marks]

Rugga Rugby club is currently preparing a cash budget for the year. They are unsure
of how their finances are doing and have approached a sports manager to help them.
The sports manager gathers the following information:

QOver the past year they incurred the following revenues:
- Ticket sales for rugby games R6 000 000
Food and beverage sales R1 400 000
Parking revenue amounts to R10 000 per month

Expenditure for the year included:
- Stadium iease R102 000 per month for 12 months
- Maintenance R400 000
- Ticket tax R15 000
- Utilities R260 000
- Ground staff R3 500 000

They maintain a cash reserve for ‘in-case’ purpeses of R5 000 per year.
At the start of the year they had a cash reserve of R1 500.

REQUIRED:

3.1 Prepare a cash budget for the year based on the information given (6)

3.2 A budget can be helpful in managing a company’s finances. There are (4)
three types of budgets that a company can use. Name and briefly explain
two of these types of budgets.



Sport Finance Page 7 of 14
Supplementary Assessment Opportunity 2014

QUESTION 4 [10 marks]

You assist companies, in your spare time, to manage their working capital as you
realised that working capital management is an integral part of Financial
management. One of your clients, SunRay Ltd, wants you to assist them in looking
into different working capital financing policies as well as cash management.

SunRay Ltd, a manufacturer of affordable sunglasses for cricket players supplied you
with an extract from their balance sheet as at 30 June 2014:

Current assets R
Inventory 93 750
Accounts receivable 62 750
Cash 15 825
Current liabilities

Accounts payable 120 400

They also supplied the following additional information:

1) Total sales for the year amounted to R 580 000. All sales are on credit.
2) The gross profit percentage is 25%.

REQUIRED:

4.1  Calculate the cash conversion cycle of SunRay Ltd. Assume 365 days per year.
(7)

4.2 Explain to SunRay 3 possible strategies to increase the cash balance of the
company. (3)
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QUESTION 5 [20 marks]
THIS QUESTION CONSISTS OF 3 INDEPENDENT PARTS

QUESTION 5.1 (4 marks)
5.1.1 Explain the processes of discounting and compounding. (2)
5.1.2 Explain how compound interest differs from simple interest. (2)
QUESTION 5.2 (8 marks)

Suppose you quit your chocolate a day, R5 a day, energy bar habit and put the money
in your savings account. You deposit the whole month’s savings at the end of the
month. The account earns 0.5% interest per month.

REQUIRED:

5.2.1 Calculate the amount that will be in your bank account at the end of 360
months. Use the formula.(assume 30 days per month : n value = 360). (4)

5.2.2 If the account was to fund your chocolate a day habit, compute how much
would be there to fund the energy bars for 360 months. (4)

QUESTION 5.3 (8 marks)

You have been hired as a financial advisor to Michael Jordan. He has received two
offers for playing professional basketball and wants to select the best offer, based on
considerations of money only.

» Offer A is a R9m offer for R3m a year for 3 years.
» Offer B is an R10m offer of R1m a year for four years and R6m in year 5.

REQUIRED:

5.3.1 Advise Mr Jordan as to which contract he should accept if he can earn 11%

interest per annum. (8)
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QUESTION 6 [13 marks]

Your company, Empire Sports Clothing Ltd which has been very profitable since its
inception several years ago, is beginning to experience difficulty in paying accounts as
they come due. You are very worried about the cash flow position of your company.

Extract from Statement of financial position:

2014 2013
Non-Current assets 3 820 000 4 180 000
Current assets 4 700 000 2 400 000
Cash 200 000 400 000
Accounts receivable 1 500 000 800 000
Inventory 3 000 000 1 200 000
Non-current liabilities 1 000 000 800 000
Current Liabifities 2 500 000 1 000 000
Accounts payable 2 500 000 1 000 000

Extract from Statement of Comprehensive income:

2014 2013
Sales 6 200 000 5500 000
Comparable information has already been calculated as follows:
2013 Industry
Current ratio 2.4 2
Acid test 1.2 1
Debt ratio 50% 40%
REQUIRED:
6.1 Calculate the following ratios for 2014: (3)
a) The current ratio
b) The acid test ratio
€) The debt ratio
6.2 Interpret the results of your analysis above (6)

5.5 Caution should be used when using ratios. Name 2 things one should be (2)
aware of when using ratios.

6.6 The use of debt in a company can be a concern for those that analyse (2)
financial statements. Why would one be concerned regarding debt?
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QUESTION 7 [17 MARKS]

Green Inc., owns a number of golf estates around the country. They have 230,000
shares of common stock outstanding at a market price of R40 a share. Green also has
8,000 bonds outstanding with a face value of R1,000 per bond. The bonds carry a
16% rate which is paid annually. The bonds are selling at 102 percent of face value.
The company's tax rate is 35% Return on government bonds is 4.5% and the market
risk premium is 8%.

REQUIRED:
7.1 Calculate the WACC (8)

7.2 If the return on the government bond decreased to 3.5%, and the tax (5)
rate changes to 40%, what will the new WACC be?

7.3 What is the effect of taxation for a company, in terms of the sources of (2)
finance a company can use?

7.4 What does the capital structure refer to and how does it change over {2}

time?
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Formulae and Appendices / Formules en Bylae

2014

Time Value of Money Formulae

FV, =PV, (1+i)" FV, =PV, xFVIE,,

PV, =FV (1+i)™ PV, =FV, xPVIF,,
(1+l) FVA =PMTxFVIFA,

FVA =PMT ’

p PVA =PMT xPVIFA,
PVA=PMT[ (L+d)” J

v FVA =PMTxFVIFA, x(l+i
FVAD = PMT[QM] (1+4) b x{+0)
1

i

v PVAD =PMT xPVIFA  x(1+i
PVAD=PMT[1—-(1+—1)J (1+1) 04D

Annuity

i

PV

perpetuity —
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